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QID : 101 - Select the related word/letters/number from the given alternatives.
Antique : OId : : Weak : ?

U 71T faehedl 3 & Heferd eree/37&TR/HET H giAT|

Grefet ;ORI ;AN ?
Options:

1) Strong

AT

2) Fragile

e

3) Convincing

T

4) Powerful

rferaerelt

Correct Answer: Fragile
BISCY

2
Candidate Answer: Fragile
BISCY

)

QID : 102 - Select the related word/letters/number from the given alternatives.
XY:AB::LM:?
8T 91T fasheul & & HeferT ereg/37eT/EEAT T FiAT|

XY:AB::LM:?
Options:

1) OP

2) PO

3)RS

4)TU

Correct Answer: OP
Candidate Answer: OP

QID : 103 - Select the related word/letters/number from the given alternatives.
CE:GK::MQ:?
T 710 fasheul & & HeferT eree/ 37T H AT

CE:GK::MQ:?
Options:

1) PQ

2) QW

3)Sv

4) TP

Correct Answer: QW
Candidate Answer: QW

QID : 104 - Select the related word/letters/number from the given alternatives.
36:12::72:7
& 1T faehodl 7 & eI eree/31)/EEar #1 giav|

36:12::72:7
Options:

1) 20

2)24

3)17

4) 16
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Correct Answer: 24
Candidate Answer: 24

QID : 105 - Select the odd word/letters/number/number pair from the given alternatives.

T a1e Tasheul & & fawe e/ 3&R/Eear/aear 37 A giav|
Options:

1) Apple

ag

2) Banana

el

3) Tomato

CHIY

4) Cauliflower

CGEUE

LN
Correct Answer: Cauliflower

CGEUE S

Candidate Answer: Banana

Fell

QID : 106 - Select the odd word/letters/number/number pair from the given alternatives.

few aTv faehedl 7 & fawer e/ 3rary/aedr/aEar oA giv|

Options:
1) LMO

2) PQS
3) XYB

4) DEG
Correct Answer: XYB
Candidate Answer: XYB

QID : 107 - Select the odd word/letters/number/number pair from the given alternatives.

feu arv faeredt 7 & fawer e/ 3rary/aear/aear o vl

Options:
1) 256

2) 289
3) 343

4) 144
Correct Answer: 343
Candidate Answer: 343

QID : 108 - Select the odd word/letters/number/number pair from the given alternatives.

feu arv faeredl 7 & fawer e/ 31T/ aear/aEan oA giav|

Options:
1) 373

2) 265
3) 490

4) 672
Correct Answer: 672
Candidate Answer: 672

QID : 109 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.
Hydrogen, Helium, Lithium, ?

T TR T o B, forad & vk ue e 81 v arv fashedt # @ @ |E) ey AT, S Jegsha il U |

grEgIe, giforad, s, ?
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Options:

1) Beryllium

aRferA

2) Boron

SR

3) Carbon

HTeTT

4) Nitrogen

QIEED]

Correct Answer: Beryllium

sfkfergs

Candidate Answer: Beryllium

sfRfergs

QID : 110 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

FIL, LOR, RUX, ?
TS Jegehat T a1 8, foreet & v e ded §1 v 1w faewedt 7 & 95 @ e gete, St sngwme A QU |

FIL, LOR, RUX, ?
Options:

1) XBE

2) XAD

3) YAD

4) XYD

Correct Answer: XAD
Candidate Answer: XAD

QID : 111 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

FU, HS, 1Q, ?
TS JeTehat T a1 8, foreet & v e ded ¢ v 1w faewedt 7 & 95 e fawew g, St sngme @ qu |

FU, HS, JQ, ?

Options:

1)LO

2) MN

3)M

4) LN

Correct Answer: LO
Candidate Answer: LO

QID : 112 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

3,9,4,16,5,?
TS Jegehat T a1 8, foreet & v e dvd ¢ v 1w fawedt 7 & a5 @ fawew g, St g QU |

3,9,4,16,5,7?
Options:

1)6

2) 25

3)20

4) 18

Correct Answer: 25
Candidate Answer: 25
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QID : 113 - In the following question, two statements are given each followed by two conclusions I and II. You have to consider the statements to be true even if
they seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements:
(I) Some men are educated.
(II) Educated persons prefer small families.

Conclusion:
(1) All families are educated.
(II) Some men prefer small families.

Pafaf@a uea &, & Fu=T U 37T § TS 31 & sy 1 33T 11 fAhrer 31T €1 3T9eh! AT § &6 U 90 § I8 3 9T AT 923t ¥ @ wdia g1 8| 3maepr
fuT FXeT § for fqw are fasewst 3 & et an/wla & AR 9 & F=t garT TEY fAehren ST Gehdr &/3wd 8, Il Fis 8N

He:
() F& v RIfEa £
(I1) & =afed 8¢ IRaR Tde #d &1

oSy

(1) g3fr oRar RIfara &

(II) Fo =afFd o IRGR THE FXd 8
Options:

1) Conclusion I follows

ARy T Ed ¥

2) Conclusion II follows

sy 11 e &

3) Neither I nor II follows
AAIIRAEIAETE

4) Both I and II follows

1 3R 11 3t Ty &

Correct Answer: Conclusion II follows

oy 11 T@Er g

Candidate Answer: Conclusion II follows

ey I TEr

QID : 114 - A is taller than B, who is shorter than C, but taller than D. Who is the shortest?

A, BU &g H orar g, o fF C A ©ler 3R D & ofeaT &1 Y 38 T BT il &7

Options:
1)B

2)C
3)D

4)A
Correct Answer: D
Candidate Answer: B

QID : 115 - Arrange the given words in the sequence in which they occur in the dictionary.

i. Recognize
ii. Receptive
iii. Record
iv. Recur

e ereal T QTecehier & 3= ATl el & AR ford|

i. Recognize

ii. Receptive

iii. Record

iv. Recur

Options:

1) i, i, iii, iv

2) iv, iii, i, i

3) ii, i, iv, iii

4) i, ii, iii, iv

Correct Answetr: i, i, iii, iv
Candidate Answer: ii, i, iii, iv

QID : 116 - In a certain language "BROTHER" is written as "CSPUIFS". How is "SISTER" written in that code language?

s faflise Hs s79r 7 "BROTHER" &Y "CSPUIFS" for@r SiTaT §1 9 s 91T & "SISTER" Y fher yshR foram smwam?
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Options:
1) TITFUS

2) TITUFS
3) SFUTIT

4) TITSFU
Correct Answer: TITUFS
Candidate Answer: TIJTUFS

QID:117 -

In the following question, select the missing number from the given series.

Fafafad vy d iGe 7 fAeedl o 9 g0 i@ 70 sifeu)

Options:
1) 17

2)8
3)26

4) 10
Correct Answer: 10

Download More PapesaifgelesiionGermicionvtJobsAlert.In

15128 7
23 7| 17
20 16| 14

Candidate Answer: [ NOT ANSWERED ]

QID : 118 - If "S" denotes "multiplied by", "V" denotes "subtracted from", "M" denotes "added to" and "L" denotes "divided by", then

11VOM88L11S9="

A "S" 7 31 M &, "V T 3 A R, M A 31 # 3R L o e R, a

11VvoMB88L11S9="7
Options:

1) 66
2)-70
3)74

4) 72
Correct Answer: 74
Candidate Answer: 74

QID : 119 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

b_d ed b c e

AT weat & 3Rl 7 el 1 FHg Wl TG TR FAIN @ F &Y 315 HER 4T T I HIM?

b_d ed b _c e
Options:
1) cedbc
2) cecbd
3) ceabc
4) cecdb

Correct Answer: cecbd
Candidate Answer: cecbd

QID : 120 - A'is to the south-east of B. In which direction is B with respect to A?

A, B % afetor-qd feem # 81 Y B, A & fone e o 82

Options:

1) South-west
AL B IRCE:
2) North-west
Sea-afdes
3) North-east
Sea-qd

4) South-east
afaT-gs
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Correct Answer: North-west
EIGEECIRE:

Candidate Answer: North-west
JeaR-afRasd

QID:121-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are repre-
sented by two classes of alphabets as shown in the given two matrices.
The columns and rows of Matrix-1 are numbered from 0 to 4 and that of
Matrix-1l are numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for example, ‘D" can
be represented by 24, 13, etc., and ‘R’ can be represented by 68, 69, etc.
Similarly, you have to identify the set for the word ‘CLASS'.

U Y155 dad U UOHI-HIE gRI G 711 8, 5l s fased o © el
oo H foan man 31 fasedt # fGU U Som-aeg o4arl & & 7 eRT e
w%,ﬁwﬁ%ﬁnwaa@é‘fﬂélaﬁgﬁ-n T 3R Ufe BT T 0
T a3 AR G-I 58 9 | 3 A H UH H5R I Igal 36! Urad
IR A T W T R G191 o 9adl 51 SaTRUl & 1078 D i 13,24
31fE GRT GRITaT & Wahal 3, TUT R Pl 68, 69 A1 FRT &GN o Havell 5
34 T ¥ ud! Uy | 3 Wsg cLass & o w1g &t ugar- g

Matrix-1 Matrix-11

a=Tg - | =g - I
o|1(213]|4 5/6|7([8]9
OlEJA|D]| I | SIBILIB|IBIS
1| CIE|A|D| I slslylLIrRIR
P leR] ThlEnie
41 1|1 |H|C|E Bld s ¥ L
9 K| K|K|[S|Y

Options:

1) 32,67, 12,87, 98
2) 43, 78, 23, 98, 95
3) 21, 34, 23, 98, 87

4) 32,67, 12, 65, 42
Correct Answer: 32, 67, 12, 87, 98
Candidate Answer: 32, 67, 12, 87, 98

QID : 122 - The only brother of Ankit is the brother-in-law of Shweta. How Shweta is related to Ankit?

3iferd &I SehelldT HTS 3T &I GaX &l T 3ifehd & &y Fafad §?
Options:

1) Wife

ril

2) Sister

Ere

3) Mother

Ar

4) Aunt

T

Correct Answer: Wife

ol

Candidate Answer: Wife

et
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QID: 123 -

If a mirror is placed on the line MN, then which of the answer figures is
the right image of the given figure?

g T TUUT &1 M 3@ TR @1 9, T € e I Aefaal f g sE
AT T% A B | uiafara grftz

M

)

—

%

=

Options:
1)

e

2)

$ &

3)

S &

4

sel Is

Correct Answer:

oo

Candidate Answer:

4@

QID : 124 - Identify the diagram that best represents the relationship among the given classes.
Plants, Humans, Respiration

a8 3N AT St A e a7 Fait & v & FHeer 1 HEY FRIOT R B

e, HST, eawT

Options:
1)

QO

2)

3)

@
OO
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Correct Answer:

Candidate Answer:

QID:125-

A piece of paper is folded and punched as shown below in the ques-
tion figures. From the given answer figures, indicate how it will appear
when opened.

e & Wy 3piaal H ey 3 aR SHS &1 JigHR sad adl @la- &
915 98 [y I TPl o fears ame

N
-

2 w

Correct Answer:

o

Candidate Answer:

o

QID : 126 - How many layers are there in the OSI networking model?

4)7
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]

QID : 127 - Christmas Card was invented by

REHH F1S T EaRT 3MTAsHR 2T aram 2|
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Options:

1) John Barber

Sief FT&T

2) Sir Henry Cole

T g rel

3) Josephine Cochrane
S fthet AT

4) Bartolomeo Cristofori

ElEEIERIRETIaEa T

Correct Answer: Sir Henry Cole
T g Il
Candidate Answer: [ NOT ANSWERED ]

QID : 128 - What does Trypsin do?

T T T &2

Options:

1) Breaks down Carbohydrates
FIdfgrese & [eee wdr |
2) Synthesizes proteins

ETT T HRATOT T B

3) Breaks down fats

T T fages a8

4) Breaks down proteins

IENT T feesT et B

Correct Answer: Breaks down proteins

& T [ees ar

Candidate Answer: Breaks down proteins
N T fyeres i g

QID : 129 - Name the source from which Aspirin is produced?

3 A FT A7 Ja1sT, FHaw TRaRa &1 3curesT o Sirar &1
Options:

1) Willow bark

el & oTer

2) Oak Tree

3reh T gaT

3) Acacia

CEC)

4) Eucalyptus

Arerfary

Correct Answer: Willow bark
Tt r orer

Candidate Answer: [ NOT ANSWERED ]

QID : 130 - Cannis Familiaris is the scientific name of

Ffaw sfaferRka HT dAfAS ATH B
Options:

1) Cat

foeelr

2) Dog

Pl

3) Fox

EICE

4) Wolf

aifgar

Correct Answer: Dog
Fcdl

2
Candidate Answer: Cat
foreelr

QID : 131 - Name the acid present in lemon.

it 3 T 31FeT T AT TS|
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Options:

1) Phosphoric acid
BIERIRE 3T

2) Carbonic acid

Fraffae 3

3) Citric acid

argfes 3w

4) Malic acid

#Aforw 3w

Correct Answer: Citric acid
argies e

Candidate Answer: Citric acid

e 3T

QID : 132 - The conversion of hard water into soft water by boiling or adding calcium hydroxide is called

FHOR UTeAT hT SaTeloh AT 3HE hioqTH gIegirarss ATt 38 Hg STol Sallel T TTshaT i T Hhed §?

Options:

1) Baker's process
IR AT gfehar

2) Temp's process
SFq T giehar

3) Clarke's process
FolTeh I ufshar

4) Lake's process

ofe & gfsar

Correct Answer: Clarke's process

FoaTh Y ufshar

Candidate Answer: Clarke's process

FoATH T ufshar

QID : 133 - Group of Monuments at Pattadakal is in

ugsHe H Feud TARS &1 9 7RI
Options:

1) Maharashtra

HERTSE

2) Himachal Pradesh
TRATT y&r

3) Karnataka

Emich

4) Madhya Pradesh
FETUSA

Correct Answer: Karnataka

Feleh

Candidate Answer: Karnataka

Felleeh

QID : 134 - 2016 Hemis festival was held in

a¥ 2016 1 AT 3cag 7 3mafara femam |
Options:

1) Manipur

AR

2) Jammu and Kashmir

STE 3R e

3) Uttarakhand

3cTs

4) Himachal Pradesh

AT g T

Correct Answer: Jammu and Kashmir

STEA 3R e
Candidate Answer: [ NOT ANSWERED ]

QID : 135 - Find arc elasticity of demand, if quantity demanded falls from 1000 to 950 when price of the item is increased from Rs. 240 to Rs. 280?

HIET Y AT AT FT IAT AT, I AET T 7S AT 1000 F TR 950 8Y STl &, ST 3MSH T HHT 240 T J T 280 T 8T ST &7
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Options:
1)0.33

2)0.3
3)-0.3

4) -0.33
Correct Answer: -0.33
Candidate Answer: -0.33

QID : 136 - A price floor is .

Th Hed del 1

Options:

1) a maximum legal price

U 3fAFIH 3T FAT §

2) a minimum legal price

T ~AdH dU HeA §

3) the price where demand equals supply

aE S & STET #T I F SR @ ¥

4) the price where elasticity of demand equals elasticity of supply
TE PIAC & STET HIIT Y olrer r 3L Y AT F WS @reh ¥
Correct Answer: a minimum legal price

Th A 3 Ao §

Candidate Answer: a maximum legal price

e 3fwdH 3T HAT §

QID : 137 - Concentration of water vapour in troposphere is

SINTHRR # g1l & g 1 gfaerd §

Options:
1) 0-4%

2) 10-14%
3) 20-24%

4) 30-34%
Correct Answer: 0-4%
Candidate Answer: [ NOT ANSWERED ]

QID : 138 - Harmful bacteria in potable water make the water

N & IrelY & R a7 SFNAT 39 arel Y o &1
Options:

1) unfit to drink

dier & forr 3y

2) smelly

3) colored

e

4) turbid

AcHAT

Correct Answer: unfit to drink

oo & o s

Candidate Answer: unfit to drink

i F o s

QID : 139 - First country to impose carbon tax is

AT Yo AT FLeTATel STUH S FHieT T §?
Options:

1) Australia

ireeforr

2) Iceland

3Tl

3) USA

U T

4) New Zealand

K

rQ
Correct Answer: New Zealand

D TICE

LN

Candidate Answer: [ NOT ANSWERED ]
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QID : 140 - Elephanta Caves is located in which city?

TolrtheT ST JHIT fohe 2reT # U &7
Options:

1) Nashik

BIRED

2) Kolhapur

2
Correct Answer: Mumbai

|

Candidate Answer: Mumbai

!

QID : 141 - Spring tides occur when .

TSGR a9 3 &, 59 I

Options:

1) the moon, the sun and the earth are in the same line

=T, T IR e vw @ H g §

2) the sun is closest to earth

T g2 & T e g €

3) the moon is farthest from earth

AT g I T o QT &

4) the earth is at right angles with the sun and the moon

gt g& 3 AT & WY FHBIOT IR Bl §

Correct Answer: the moon, the sun and the earth are in the same line
g, FF AR ged v Y F g §

Candidate Answer: the moon, the sun and the earth are in the same line

e, T AR gl o W@ A g §

QID : 142 - Humayun's Tomb was built by, .

waﬂw CART SeIdTIT 31T AT|

Options:
1) Humayun

gAY

2) Hamida Banu Begum

EHIGT a1l ST

3) Babur

CICEY

4) Akbar

3ThslT

Correct Answer: Hamida Banu Begum

gHIeT ST ST

Candidate Answer: Hamida Banu Begum
EHIGT JTal ST

QID : 143 - Who built Sabarmati Ashram?

AIETHT TS fordet S A1?
Options:

1) Guru Ramdas

& THETH

2) Shah Jahan

QMg STl

3) Rao Jodhaiji

Tq et

4) Mahatma Gandhi

HETCHT ey

Correct Answer: Mahatma Gandhi
HETeAT ey

Candidate Answer: Mahatma Gandhi
HETCHAT el

QID : 144 - Which movie got the Best Film Award in 2016 IIFA Awards?

e fbeat T af 2016 3 3TSHT [ERRT 7 IS e T [EFR Al 52
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Options:

1) Bajirao Mastani

SISIRTT AT

2) Piku

g

3) Tanu Weds Manu Returns

4) Bajrangi Bhaijaan

EErciE o

Correct Answer: Bajrangi Bhaijaan
TN TSt

Candidate Answer: Bajrangi Bhaijaan

FoafT emESTeT
QID : 145 - Why does a fountain pen leak in aeroplane flying at a height?

3118 FaT$ W 33 aTel gaTS STeTSl 3 TIATET aTel Uef offeh 74l lct 87
Options:

1) Because of reduced viscosity of the ink in the pen

U H TITEY ST g Eé aEwadr & HRoT

2) Because of increased viscosity of the ink in the pen

IeT H TIATET I T&r §é farwaar & SRoT

3) Because of higher atmospheric pressure outside the pen

O & S1eY 31T AYHSNY eard & HROT

4) Because of lower atmospheric pressure outside the pen

UeT & STER A AGHSENY GaTd & HROT

Correct Answer: Because of lower atmospheric pressure outside the pen
UeT & ST A AGHSAY aTd & HROT

Candidate Answer: Because of lower atmospheric pressure outside the pen

U7 & 1Y HH AGHSAY aTd & HROT

QID : 146 - Instrument for measuring wind velocity is called

&4T & 33T T ATYN & I T gl ST &

Options:
1) Coulombmeter
. -

2) Anemometer
A

3) Cyanometer

HEAH

4) Chronometer

Pl

Correct Answer: Anemometer

wfaafde

Candidate Answer: Anemometer

AR

QID : 147 - In the presence of which of the following, does the President takes Oath?

fFafaf@d # & fraer sufeufa & Isgufar oo I1gor X 82
Options:

1) Vice-President

SIS

2) Lok Sabha Speaker

AR ITETET

3) Chief Justice of India

R & T warareer

4) Attorney General

et STeRe

Correct Answer: Chief Justice of India
R & HEY warareer

Candidate Answer: Chief Justice of India
IR o T wATTeier

QID : 148 - Who was the first indian Chief Election Commissioner?

TUH AR HET ToATd 3G it A?
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Options:

1) Morariji Desai

ARRST SaTS

2) Sukumar Sen

GHAR el

3) Sardar Patel

TER 9T

4) V.S Ramadevi

& v IHRE

Correct Answer: Sukumar Sen
GHAR el

Candidate Answer: Sukumar Sen
AR &1

QID : 149 - Phil Mickelson plays which International Sport?

el fAerasT Sl T FARTSET Vel Weld &7
Options:

1) Golf

Me®

2) Baseball

CReEirc

3) Basketball

Elrs i)

4) Boxing

HFhaTol

pel
Correct Answer: Golf

Elirs:d
Candidate Answer: [ NOT ANSWERED ]

QID : 150 - Who is the author of the book - "The White Tiger"?

" TETSC TISIR" o oIEeh il g7
Options:

1) Maneesh Tripathi

AT Fardr

2) Aravind Adiga

3Rfde 3rfsam

3) Arvind Joshi

3fde Sl

4) Vijay Lohkare

e ey

Correct Answer: Aravind Adiga
3Rfde 3rf3am

Candidate Answer: [ NOT ANSWERED ]

QID: 151 - If 5x - 3(4 - X) < 4x - 4 < 4x + 2x/3; then the value of x is

e 5% - 3(4 - X) < 4X - 4 < 4x + 2x/3; dl x FT FAT AT §7?
Options:

1)-7

2)3

3)4

4)1
Correct Answer: 1
Candidate Answer: -7

QID : 152 - Reflection of the point (-1,4) in the x-axis is

x-3187 7 g (-1,4) & vfafda & e w7 gir
Options:

1)(14)

2) (1,-4)

3) (-1,4)

4) (-1,4)

Correct Answer: (-1,-4)

Candidate Answer: (-1,-4)
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QID : 153 - To travel 660 km, an Express train takes 10 hours more than Rajdhani. If however, the speed of the Express train is doubled, it takes 7 hours less than

Rajdhani. The speed of Rajdhani is

660 3.7, &I AT Xt & TIT, Teh TFEUH &oT TTEr=N F 10 © 3778k Al &1 TS Torasrg go7 oY 1Tt garelt Y &Y Sieht 8, o g TTerieht ot Jolell & 7 6 sl T

oIl &1 TrsteTeY iy arfa &/ &2
Options:

1) 38.8 km/hr

38.8 .. /ger

2) 16.2 km/hr

16.2 .7, /eer

3) 50.1 km/hr

50.1 .. /ger

4) 27.5 km/hr

27.5 f.#. /ger

Correct Answer: 27.5 km/hr
27.5 . /ger

Candidate Answer: [ NOT ANSWERED ]

QID : 154 - Simplify (b°x%a3z**(b3x%a%z>) [ (a?b3z2)

& e (bPx%a3zh)*(b3x%atz®) [ (a2b3z2)

Options:

1) box*a®z°

2) b°x%a°z’

3) b°x%a%z’

4) b**a®7’

Correct Answer: b°x*a®z’
Candidate Answer: b°x*a%z’

QID : 155 - For triangle ABC, find equation of median AD if co-ordinates of points A, B and C are (2,-4), (3,0) and (5,-2) respectively?

T ABC % o, afe g A, B 31 C & @deriss waen: (2, -4), (3,0) 3R (5,-2) §, A ey AD o Hiaor T giam?

Options:

1)3x-2y =14

2)3x-2y=2

3)3x+2y=14

4)3x+2y=2

Correct Answer: 3x - 2y = 14
Candidate Answer: 3x - 2y = 14

QID : 156 - If a retailer offers a discount of 28% on the marked price of his goods and thus ends up selling at cost price, what was the % mark up?

I Teh GeT SR 379 HTel & FAEAT A 9X 28 % HT Fe FeTel el & 3R 34 oRe oI Hed TR ATl Sl 8, aF % Rifeed Hea F1 ar

Options:

1) 18.25 percent
18.25 gfaerd

2) 22 percent
22 gfaera

3) 38.88 percent
38.88 gfaerd

4) 28 percent
28 ufaera
Correct Answer: 38.88 percent
38.88 wfaerd

Candidate Answer: [ NOT ANSWERED ]

QID : 157 - What is the value of tan 300°?

tan 300° =T &7 AT &7

Options:
1)-1/2

2) -1/v2
3)-v3

4) -V/3/2
Correct Answer: -V3
Candidate Answer: -V3
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QID : 158 - When a number is increased by 38, it becomes 119% of itself. What is the number?

TRy T & 519 38 ST AT fRaT ST, A 98 319 3T Y 119% &Y ST § | 98 TE&AT F4T 87

Options:
1) 200
2) 456
3) 570
4) 342

Correct Answer: 200
Candidate Answer: 200

QID : 159 - The difference between simple and compound interests compounded annually on a certain sum of money for 2 years at 8% per annum is Rs 40. What
is the sum?

oo AfRad Tflr 9x 2 ot & forw 8% @i &7 & arf¥es v & G g1 arer AeRoT saret 3R Tegfe saTeT # 3R 40 % 81 TR ket 82
Options:

1) Rs 12500

12500 &

2) Rs 6250

6250 &

3) Rs 25000

25000 &

4) Rs 18750

18750 &

Correct Answer: Rs 6250
6250 %

Candidate Answer: Rs 6250
6250 &

QID : 160 - In a Rhombus ABCD, measure of angle CAB is 35°, what is the measure of angle ABC?

T HAEGHST ABCD #, 10T CAB T HIT 35° §, 10T ABC T HIT T g1amT?
Options:

1) 70°

2) 40°

3) 50°

4) 110°
Correct Answer: 110°
Candidate Answer: 110°

QID : 161 - If cotA/V(1 + cot?A) = x, then the value of x is

T cotA/V(1 + cot?A) = x, aY x T AT AT §?

Options:
1) sinA

2) cosecA
3) secA

4) cosA
Correct Answer: cosA
Candidate Answer: cosA

QID : 162 - When a discount of 20% is given on a lunch buffet, the profit is 42%. If the discount is 15%, then the profit is:

ST T ofd I I 20% T T &7 A &, T 42% 1 oM B §1 AR TE 15% 8, A ame fowtar gram?
Options:

1) 57 percent

57 gfaera

2) 50.875 percent

50.875 gfaerd

3) 63.125 percent

63.125 wfdea

4) 44.75 percent

44.75 gfaera

Correct Answer: 50.875 percent
50.875 gfaerd

Candidate Answer: [ NOT ANSWERED ]
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QID : 163 - What is the value of V[(1 - cosA)/(1 + cosA)]?

V[(1 - cosA)/(1 + cosA)] T FaT AT §?

Options:
1) cosecA - cotA

2) cosecA + cotA
3) secA - cotA

4) secA + cotA
Correct Answer: cosecA - cotA
Candidate Answer: cosecA - cotA

QID : 164 - On dividing a number by 38, we get 70 as quotient and 12 as remainder. What is the number?

38 ¥ T TEAT F o et W, & 70 STl & 37 H 3R 12 A9 & 37 7 Herdr §1 39 T&AT A A1 I?

Options:
1) 2648
2) 2636
3) 2684
4) 2672

Correct Answer: 2672
Candidate Answer: 2672

QID : 165 - By increasing the price of entry ticket to a fair in the ratio 17:19, the number of visitors to the fair has decreased in the ratio 11:10. In what ratio has

the total collection increased or decreased?

Teh Fel T YA Reehe & Fed 3 17:19 & oIt & i ek, Hel # e ATl Sl B HEAT 11:10 & 3edrct ¥ H 81 71 §| Dol Tebole 3 b e[t 3 g A1 ol g8

[

Options:

1) decreased in the ratio 190:187

190:187 & 3e[ard H FHN g5 &

2) increased in the ratio 187:190

187:190 & [ A IR ES &

3) increased in the ratio 170:209

170:209 ¥ 3yl # IRe g6 &

4) decreased in the ratio 209:170

209:170 & 3HogdTcl 7 AN §F &

Correct Answer: increased in the ratio 187:190
187:190 & 3iqurd # If& g% &

Candidate Answer: increased in the ratio 187:190

187:190 ¥ 3y H IRa g6 &

QID : 166 - In a cyclic quadrilateral

T R IgeeT H

Options:

1) Opposite sides are parallel

2) Diagonals are bisectors of each other
ot U gE & HHGIHTSTE Blct &

3) Opposite angles are supplementary
e T e o &

4) Adjacent angles are supplementary

TAheEY HI0T IqT B1cl &

Correct Answer: Opposite angles are supplementary

e o R B &
Candidate Answer: Opposite angles are supplementary

TR roT 3R g &

QID:167-Ifa+b=-8and a2 + b2 = 34, then value of ab is

I a+b =-83Ma? + b2 = 34, A ab & FaT AT §?
Options:

1) 30

2) 64

3)98

4) 15

Correct Answer: 15

Candidate Answer: 15
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QID : 168 - The average of 19 consecutive even integers is 50. The highest of these integers is

19 TR F quitent &1 AT 50 §1 3o7 quiTeht r Fafea HE&T &
Options:

1) 88

2) 68

3) 126

4) 100
Correct Answer: 68
Candidate Answer: 68

QID : 169 - The first and last terms of an arithmetic progression are 25 and -52. What is the sum of the series if it has 12 terms?

T FHIR Aot &1 gger 3R 3R 9g 25 3 -52 &) Ffe Amer 7 12 9g €, & e = gem?

Options:
1) -162

2)-110
3) 162

4) 110
Correct Answer: -162
Candidate Answer: -162

QID : 170 - A wooden bowl is in shape of a hollow hemisphere of internal radius 9 cm and thickness 1 cm. Find the total surface area of the bowl?

TSN T Teh HERT 3TTcTReh o 9 A, AR AerS 1 A3, & voh TG Mol & TR A =11 &1 38 HER & FeIg oh ol &7l b Tell oIMa?
Options:

1) 1376.58 sq cms

1376.58 @t @7,

2) 2064.87 sq cms

2064.87 a9t A7

3) 344.15 sq cms

344.15 gt @

4) 1197.42 sq cms

1197.42 Tt @,

Correct Answer: 1197.42 sq cms
1197.42 37 {4,

Candidate Answer: [ NOT ANSWERED ]

QID : 171 - Pankaj has done 1/2 of a job in 12 days, Sainath completes the rest of the job in 6 days. In how many days can they together do the job?

oot o 12 fereT &1 Ueh oI T 1/2 19T G A O &, FISAT STl §3HT 1 6 o 31 R0 cll &1 el TAereh T8 hred fohcted e & o7 e Aehel 7
Options:

1) 4 days

4 et

2) 12 days

12 et

3) 8 days

8 feeT

4) 16 days

16 &t

Correct Answer: 8 days

8 feeT

Candidate Answer: 8 days

8 f&et

QID:172-
Refer the below data table and answer the following Question.

I fed o Eer it & oy W AeiiEd vy s e €

oy

Boys / wigds | Girls / dagidy
Medical / Bfgwd 25 40
Engineering / SiFRT| 65 2

What percent students who chose Engineering are girls?

Bl | wrsforat & wfawd fea 3, S Sofifafm fawa g 82
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Options:
1) 16.13

2) 38.46
3) 43.26

4) 27.78
Correct Answer: 27.78
Candidate Answer: 16.13

QID:173-
Refer the below data table and answer the following Question.

I ol Fe it & oy R FEiRT vy s e 5

Cumulative production
Had gereH
January / SAG 360
February / TRadl 920
March / TITd 1520
April / 284 1970
May / liiﬁ 2620
June / Egl 3000

How many cars were manufactured in the months of April and May?
7 3R el T A el B Bffa S

Options:

1) 1050

2) 1030

3) 1100

4) 4590
Correct Answer: 1100
Candidate Answer: 1100

QID:174 -
Refer the below data table and answer the following Question.

g fed T Ee a1t & oy W Fafated vy s e S

Download More PapesaifgelesiionGermicionvtJobsAlert.In

Day of the week Distance jogged (in krj]s]
Fag@Ifed | dEiEiEd (fedndier H)
Monday/ HimaR 3
Tuesday / Tiaa 3
Wednesday / FUAR 2
Thursday / TT&dR 2
Friday / IehdR 3.5
Saturday / 94 2
Sunday / IfggR 3:5

If 400 calories are burned by jogging Skm, how many calories were burnt

in the given week?

afe s iR gie= & 400 Bl &) @Ud aidl 3, i fou T8 R 9wrg &

fba! el &1 @ud g2
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Options:

1) 1570 calories

1570 ey

2) 1470 calories

1470 ey

3) 1420 calories

1420 Fedr

4) 1520 calories

1520 ey

Correct Answer: 1520 calories

1520 ey

Candidate Answer: 1520 calories

1520 SHerr

QID: 175 -
Refer the below data table and answer the following Question.

I fed T e it & oy W FefafEg vy w1 e E

ltems Yearly Expense in Rs lakhs
a @ra vl A arfie @d
Raw Materials / =] HI& 4
Labour / 4O 3
Rent / foseran 4
Interest / & 6
Taxes [/ &7 1

Raw Materials and Interest are what percent of total expenses?

Hl ATd AR S $d &Y P a1 Wi o7

Options:

1) 48.31 percent
48.31 yfaera

2) 41.06 percent
41.06 gfaerd

3) 62.81 percent
62.81 yfaera

4) 55.56 percent
55.56 gfaerd

Correct Answer: 55.56 percent
55.56 gfcrerd

Candidate Answer: 55.56 percent
55.56 wfaerd

QID : 176 - Improve the bracketed part of the sentence.

(As soon as I saw) the ferocious dogthan I ran away.
Options:

1) No sooner than I saw

2) No sooner has I seen

3) No sooner did I see

4) no improvement

Correct Answer: No sooner did I see

Candidate Answer: No sooner did I see

QID : 177 - Rearrange the parts of the sentence in correct order.

Itis a good sign

P-that the ratio remains the same despite
Q-the revenue base coming down because
R-of increased devolution to States
Options:

1) QRP

2) RPQ

3) PRQ

4) PQR

Correct Answer: PQR

Candidate Answer: PQR

QID : 178 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

We have to accept(A)/that driving vehicles(B)require expertise.(C)/No error(D)
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Options:

1)A

2)B

3)C

4)D

Correct Answer: C
Candidate Answer: C

QID : 179 - Select the antonym of

to brood

Options:

1) to repine

2) to ignore

3) to fret

4) to mope

Correct Answer: to ignore
Candidate Answer: to mope

QID : 180 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one, which best expresses
the same sentence in Passive/Active voice.

The cricket ball struck me on the head.

Options:

1) Struck me on the head the cricket ball .

2) I was struck on the head by the cricket ball.

3) I had been struck on the head by the cricket ball.

4) I am striked on the head by the cricket ball.

Correct Answer: I was struck on the head by the cricket ball.

Candidate Answer: I was struck on the head by the cricket ball.

QID : 181 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Through thick and thin

Options:

1) To be together under all circumstances, no matter how difficult

2) None of the days are alike. Some are good and some are bad

3) To pass through various types of obstacles

4) An obese person suddenly losing weight

Correct Answer: To be together under all circumstances, no matter how difficult

Candidate Answer: To pass through various types of obstacles

QID : 182 - Rearrange the parts of the sentence in correct order.

India is extremely short
P-of water, and there will be even less
Q-is taken out

R-of it as groundwater
Options:

1) RPQ

2) QRP

3) PRQ

4) QPR

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 183 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Thumb one's nose
Options:

1) an ill-mannered person
2) to show affection

3) to scold a naughty person
4) to express scorn

Correct Answer: to express scorn
Candidate Answer: to express scorn

QID : 184 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one, which best
express the same sentence in Indirect/Direct speech.

‘Have you come from Japan?' said the shopkeeper to the tourist.
Options:

1) The shopkeeper asked the tourist whether she had come from Japan.

2) The shopkeeper asked the tourist that if she had come from Japan.

3) The shopkeeper asked the tourist that whether she had came from Japan.
4) The shopkeeper asked the tourist if she came from Japan.

Correct Answer: The shopkeeper asked the tourist if she came from Japan.
Candidate Answer: The shopkeeper asked the tourist whether she had come from Japan.
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QID : 185 - Select the synonym of

crown
Options:

1) frown

2) apex

3) nadir

4) base

Correct Answer: apex

Candidate Answer: apex

QID : 186 - In the following question, sentence given with blank is to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The unruly behaviour of the parliamentarians the speaker.
Options:

1) incensed

2) estranged

3) enflamed

4) disparaged

Correct Answer: incensed

Candidate Answer: disparaged

QID : 187 - Improve the bracketed part of the sentence.

The hapless kid (cut a sorry figure) in his first performance on the stage.
Options:

1) made a sorry figure

2) made a sad figure

3) cut a sorry face

4) no improvement

Correct Answer: no improvement
Candidate Answer: no improvement

QID : 188 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

To better the public transport system, the municipality the scheme of securing dedicated lanes for buses.
Options:

1) marketed

2) launched

3) floated

4) enhanced

Correct Answer: launched
Candidate Answer: launched

QID : 189 - Select the word with the correct spelling.
Options:

1) blottched

2) essences

3) sylabus

4) semmantic

Correct Answer: essences
Candidate Answer: blottched

QID : 190 - Select the synonym of

preacher

Options:

1) atheist

2) agnostic

3) evangelist

4) pagan

Correct Answer: evangelist
Candidate Answer: pagan

QID : 191 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

the customary code of polite behaviour in society or among members of a particular profession or group
Options:

1) etiquette

2) frizette

3) epaulette

4) fossette

Correct Answer: etiquette
Candidate Answer: etiquette

QID : 192 - Select the word with the correct spelling.
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Options:

1) depictted

2) brisbaane

3) fiddling

4) ponderred

Correct Answer: fiddling

Candidate Answer: fiddling

QID : 193 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Although he studied(A)/very hard, he(B)/could not pass the exam.(C)/No error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: D

QID : 194 - Select the antonym of

veracity
Options:
1) deceit
2) condor

3) probity
4) rectitude

Correct Answer: deceit
Candidate Answer: [ NOT ANSWERED ]

QID : 195 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

the way in which a substance holds together; thickness or viscosity
Options:

1) corpulency

2) consistency

3) exigency

4) exultancy

Correct Answer: consistency

Candidate Answer: corpulency

QID : 196 - correct answer for the given blank out of the four alternatives.

The main failings were of conception and a political willingness to settle easy options. the expansive declarations
of the need "to maintain effective security of all nuclear materials, includes nuclear materials used in nuclear weapons”, the
summits narrowed their to civilian holdings non-nuclear weapon states.

The main failings were of conception and a political willingness to settle easy options.
Options:

1) to

2) of

3) from

4) for

Correct Answer: for
Candidate Answer: for

QID : 197 - correct answer for the given blank out of the four alternatives.

The main failings were of conception and a political willingness to settle easy options. the expansive declarations
of the need "to maintain effective security of all nuclear materials, includes nuclear materials used in nuclear weapons”, the
summits narrowed their to civilian holdings non-nuclear weapon states.

the expansive declarations of the need
Options:
1) Inspite
2) Since
3) Despite
4) Despite of
Correct Answer: Despite
Candidate Answer: Despite

QID : 198 - correct answer for the given blank out of the four alternatives.

The main failings were of conception and a political willingness to settle easy options. the expansive declarations
of the need "to maintain effective security of all nuclear materials, includes nuclear materials used in nuclear weapons”, the
summits narrowed their to civilian holdings non-nuclear weapon states.

includes nuclear materials used in nuclear weapons”
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Options:
1) which
2) that
3) those
4) who

Correct Answer: which
Candidate Answer: which

QID : 199 - correct answer for the given blank out of the four alternatives.

The main failings were of conception and a political willingness to settle easy options. the expansive declarations
of the need "to maintain effective security of all nuclear materials, includes nuclear materials used in nuclear weapons”, the
summits narrowed their to civilian holdings non-nuclear weapon states.

the summits narrowed their
Options:

1) view

2) focus

3) attention

4) vision

Correct Answer: focus
Candidate Answer: focus

QID : 200 - correct answer for the given blank out of the four alternatives.

The main failings were of conception and a political willingness to settle easy options. the expansive declarations
of the need "to maintain effective security of all nuclear materials, includes nuclear materials used in nuclear weapons”, the
summits narrowed their to civilian holdings non-nuclear weapon states.

civilian holdings non-nuclear weapon states.
Options:

1) into

2) for

3)in

4) about

Correct Answer: in

Candidate Answer: into
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